CHRRLATRETZ LY FREE R E
108 # % 3% T ip| & & 4p &
SRRFENF ARk
X R NNk
- ~EP o
BEH (TSP PMo | R - FR) B R < T R

PM25)~SO2~NO2~ 8 & ~

BRE SR S Rhow TSP~PM1o~PMos ~| %5 1 8 B & B30 < 4R Tk ~ BB 2 = PR X%
g SOz NOz~ B A& % % §F &5 %t ’ﬁﬂ1spx«ﬁﬁriw: £ R
L ) BAE SR SR |l 2 PMoRE AR - g 24 HER
f%#mﬁa‘%##l?ﬂ'l“ Hepyr s g 5p e
TR R 3%
= VR -~ ERlE
FREEo AN W g B KR < HR TR
F& Bl (FLFLEL*JL T F‘Iﬁp CEME
7)) TSP(ESMJ] f e 32-123 29~130 30~137
PMio p -T2 7E s - N _
241 8 i (ug/m) 18~89 17~93 13~97
PM Z(ZS/E?? 7k 1~40 1~25 4~31
NO2 &« /| PF - _ ~
=t (ppm) 0.036-0.051 | 0.036-0.046 | 0.038~0.055
SO, 4¢f;§;% 0.023-0.047 | 0.025-0.046 | 0.015~0.043
(PPM) ™2 3% | 00090011 | 0008~0.022 | 0.005-0.012
£ 2 (C) 29.0~29.4 28.2~29.2 28.8~29.5
iR R (%) 75.1~81.7 75.9-81.9 73.8-85.0
B i (M/S) 1.6~18 1.6~2.3 1.7-2.2
77" i A 1 3
b K %A & %
97 o o AL
ERE 2 X
AFEZ FR RO 24:28 p 2 PMas iRl E (4 B 5 3940 pg/md)
RN LF SRS ] pﬁﬂ;etfp 35ug/m3)m' A0 4 M~ E P
* Pl\/lz.s/}i%)ir%%“’fﬂ—gxﬁ'q SR %5 LR E: BUAR R QR Al 3
fiﬂﬁﬁr;{g;ﬁﬁu%w@;/? /ﬁ B R 2 SRR
i 3k ?ﬁr/”\ﬁ:% Bl 3 A Fiéﬁ’fmwfﬂ—g?éﬂ’i"l?' %
PMas T3k B A5 % O3 2492 33-38-31 pg/m®-9 7 28 p 2
3632~ 33pgm® - H ¢ < HRiFRIskR ET 90 24 p (38 pgm)F &
W F S TEE S BB R E 9 28 p (36ugmY)T 2%

o

FRFE

d 3z 4@]]1?]4«‘“9” 24E1§’di;')ira~aﬂl+ B ~97 28p BAR

e KA EF R r‘C“F”B”\JfJFJ’fi A FRL R TR R
IR ¥ ) /FJ“&*"\g 5 24~28 p 2. PMasipliE & W] & 27 28ug/m o
d @i g 2 kR A GV APDZ BRI 24-28 p 2. PM2s
ERBY I F ST HRERT R ?'/{J? °

% 17



#d SR - R
— ~NIJEP al s
7?‘]—2&:' - ‘:; _ 'IL‘,*]V -
1wk IR IR (R F)
ISR TN T 108.07.22(% p )
Leiq X~ Lmax " 3 Leg>Lx~>Lmax>Ls~La~Ls 108.07.21(K-p )
[ -
2> s S o 108.07.22(< p )
i Lven > Lve > Lvmac Ly 108.07.21( i )
LVeq‘l-Vx‘l-Vmax‘l-Vk1 SEVE
Ly = NN o TN
SN 1 B2 X Ap b
BB (- & %) FP - FRIE BIRET (- &%)
g e L, 55.7
- & / . xp L« 52.3
FFER-FoEFxRG + L - 49.1
FIp 2R OERIFE B L 99.5
BwLiag 24 ) (A) g L « 50.4
L - 49.6
s Lvio s 36.6
{fﬁff Lvio = 325
aB . Lvio» 33.8
Lvio 31.6
ERNE 5
1 w3 P A F LRI REEHETE L - UE R TR
B 2R
2. kb L AE LR TREFHVRE ST AR RSN
FwmRl % - BRBAE .
R - H AR
-~ iR 2k
" 7"1‘ 2 ‘:; /"’L‘/‘CE_ 2, r
ey IR U BN R R P i AR BT 5 2 T
PP R LRSI ARL gl - x 3D - 108.07.22(% p )
g s EER "
3 L 108.07.21(i.p )
Lo §82 3 (THCE
= o~ gL
BB dhE A Z RS ERIE
v 1L BABALEDLES
o L W2 [ [AE | 232 | #ed | Ay | AR
= R / T | e | dm) | Gm) | G®) | R |Pcuim
AETR- KAz (21‘,{%}1 gy| 1682 | 1209 | 131 26 3138 100
Tp2iEpERERPE TR e 1950 | 2588 163 40 4741 163
F¥a % 0500~2200 (A * R % A
(Zl"’{j:ij\w g| 1595 | 1350 | 133 45 | 3123 | 102
Bp =
Ve
(- ha | 1638 | 2215 | 120 36 | 4009 | 138
2. BB PRIRK B
o o BT PR A%k

A4

2 7




__L &z T X __L T T I
ERY
oy i) 308 150 B A
e
e ragy 422 363 B B
ERR
o i) 220 156 A A
R
GRS ) 288 A °
P HRBEIAZRIIEEANARS
s B2 [ [AE | 3D | PRI | & | AL
— () (s () (4m) (/) | (PCU/hr)
(4’3“_?: dge) | 7436 | 5767 | 260 | 1541 | 15004 | 572
{4
R
, .\ | 5868
. " :,l i) 7438 | 293 | 1414 | 15013 | 598
(mg o joy| 6332 | 5566 | 276 | 3079 | 15253 | 702
U g
e
(ji;ﬁ,; gy 7221 | o704 | 342 | 3143 | 20410 | 904
-
(4’1{5;&) 6043 | 5058 | 186 | 1585 | 12872 | 513
{4
wo
, | 5667 | 6909 | 324 | 1621 | 14521 | 595
wp [ HR)
(mg 2 joy| 5189 | B | 346 | 2706 | 14352 | 666
U
o
(iLiii - yy| 5255 | 9338 | 458 | 2778 | 17820 | 817
-
4. ¢ HREGS R 2 BT RIEKE
L LR PRS-k
v oz T x s T
(115??%&@) 1363 1524 B B
{4
iR
., (9 ) 1547 1107 B A
(ﬁ_{.ﬁ;’: N 1424 A A
U
Re
(s )| 1874 1608 B A
(115??%&@) 1072 1323 A B
{4
wo
, , 1399 1123 B A
wp [ HR)
(Il'}(; W py| 1240 1635 A A
U
A
(st - gy| 1400 1629 A A
ERNF"S

1 BAE:AZETp2iRp gD

B d

TSRS L

R

1 o

£l

2. P AR SBZRY L AZ TR R ER AL RS A A
Bz EAEE LA o

ARk

R




- ~ P Bleb| kTR | E-k#acce | Boage ¢ 500 | -z re b 500
PH-§ & K 35 o py (e d) | GHs2) %R G)| = RN 4
AT ER T F(PHEEKE -

o B A ES
EE¥%2% a-®BiEH %}%ﬁ.i%’ aﬁ?%
WBREZLERGR sz - an 108.07.29
&5~ 4%~ 4F) Fﬁji—‘iﬁ
l ) B (& ~ 45~ 4~
Z o~ g EL &) "
TN U -2 1
- = /FJ e
P 1k Bk
Tk 500 o R g2 o 2 ek BRTBS Bk T | ke ok 500 2 | ke ¢k 500 2
4 3 (Rl= 1) (Rl 2) 2 ReiB =k 3) 2 ReiR =k 4)

= VAR IR K B R A L Rl B A e A A A B R B B R R

= YRR K (°C) | 26.0| 26.4 | 26.5| 30.2 | 29.6 | 29.8 | 29.8 | 29.6 | 29.8 | 29.2 | 295 | 29.6
HEii- HEDE pH 81|82|82|84|83|83|83|82]|83]|83]82]| 82

% A(NTU) | 35 | 23| 1.8 | 16 | 1.3 | 12 | 43 | 34 | 24 | 38 | 29 | 1.9
5 (mgl) | 7.7 | 7.7 | 76 | 80 | 80 | 81| 83 | 99 | 95| 93 | 9.0 | 95
4ivz25f [<20[<20(<20|<20|<20|<20|<2.0|<20|<20|<2.0|<2.0]|<20
(mgL) [(1.0)|(0.9)|(0.9)|(08)|(0.9)|(09)|(1.0)|(1.0)|(0.8)| (09) | (0.9) | (0.9)
BixAM | 53l 48] 39|47 |38|37|61|52|39]|59)|41] 36
(mg/L)
ﬁj;f)a 02]02|07|07|04|04|08|10|07]|06]| 06|05
@ A (ps) | 30.4| 30.0 | 32.6 | 32.2 | 32.8 | 33.4| 26.2 | 31.8 | 24.0 | 30.5 | 30.7 | 31.2
i fmjf)f‘l— 111]103| 89 | 10.1]105| 96 | 11.5| 115|107 | 148 | 14.8 | 14.7
Z(mgL) | ND | ND | ND | ND | ND | ND | ND | ND | ND | ND | ND | ND
#:(mg/L) | ND | ND | ND | ND | ND | ND | ND | ND | ND | ND | ND | ND
4(mgL) |ND | ND | ND | ND | ND | ND | ND | ND | ND | ND | ND | ND
#(mgL) |ND | ND | ND | ND | ND | ND | ND | ND | ND | ND | ND | ND
R
AEEPIHEZPH B F 275 2L 2BGE A AR
R EREASE R AR STRE -

ek e — HE

- ~J P
e e e Rt sekrgg | Rk | gk 500 | r 500
FAEREA R RSB R ; (Rl=k 1) (B 2) o8 ER) R B) | 2 7 AR sk 4)
*é /} 4_;' N é‘ ﬁ;{— IE Ej N E] ;\P

o E R I IR S

Z e ER Bt s K2 o 108.07.29
ok g 1 s (pl s
Do kgar LRG| ~ BplE
2 RHRBC AL
500 2 & L2 (iR S TI=IE
2 4) £ 43 Bleb| igokov g | Bk | #acre b 500 | ke ¢ 500

S, (Rl=k 1) (R 2) 2% Pz 3) | 2 7 R 4)

BN RS LT
o @ % A (celg/l) | 89,055-96,385 | 62,552~227,700 | 113,307~186,724| 153,184~243,549
FREE-ABEDL [ pyer o 4.86~5.26 3.41~12.42 6.18~10.18 8.35~13.28

BER 1.27~1.82 2.35-2.63 2.43~2.93 2.34~2.95

R 3.07~331 3.40~4.83 3.63~5.93 3.95~5.28

4R 0.36~0.50 0.59~0.70 0.64~0.72 0.60~0.74
2. ki B

=




Rlep| kT BE | Rk | f2ve b 500 | o b 500
BP o~ ERE (Bl=k 1) (Rl=k 2) o' (R EE 3) | 2 1 AR 4)
X # R (inds./m3) 9,914 1,414 7,121 2,315
i & (%) 47.75 6.81 34.29 11.15
SRR 1.47 0.95 1.02 1.01
¥R 1.30 2.07 1.80 2.07
23R 0.57 0.34 0.36 0.36
3. KRit
Rleb| kTR | Rk e | Paxo ¢ 500 | ko b 500
BP o~ ERE (Bl=k 1) (Rl=k 2) o' (R EE 3) | 2 ' AR 4)
B4 E (inds) 2 7 12 13
i & (%) 5.88 20.59 35.29 38.24
FaE i 1 2 4 5
R R 0.00 0.60 1.31 1.59
A 0.00 0.51 1.21 1.56
23R - 0.86 0.94 0.99
4. A.uF
Rk kT BR | Rk | e b 500 | o b 500
BP o~ ERE (Bl=k 1) (Rl=k 2) 2% (R EE 3) | 2 1 ARz 4)
B¥ 788 (inds) 0 1 1 3
i & (%) 0.00 20.00 20.00 60.00
FauE i 0 1 1 2
R R - 0.00 0.00 0.64
2EAR - - - 0.91
23R - - - 0.92
R

L #%EY A2 F R 6 M 14 M 55y LRIk~ 2KA
T ian R 5 152,808+60,734 cellg/l -

2 it g 1 A EE ek OF 19 % AT LR b £ RIS AT B
B % 5191+4,024 inds./m? o

3 ARA P
4. AHR

AZEREIF OB BAES B -
ATEFELD 2 3B 5L AT R -

ARET
— ~NIJE P

pH~ £ & (7 ~ 45~ 42
=~ B EE
tak TR CIE S L
FETL2HRPLIESE
CHER
IAEPFE - =

It

- R

107 &4 e fd &t 0¥ > Pl | ST RIE o




AR SN L]
-~ ®R i) 2b
R @ e B Rk R T o) P
R NG A L Rk R 1 S00 S
_ | . + £ B~ &
SNSRI 1R ;f;;;’a & 108.07.29
BEkaer Lsgpl
ke 4500 2 @ g lm B HE
+ R =
a o~ " B kg Bk 500 2 ¢
E_"};ﬁ}i: I?.B‘E'/E’L_
- % (mg/kg) <0.100 <0.100
EEFLIIHERDE [ p(mgkg) 136 12.1
& (mg/kg) ND ND
4% (mg/kg) <10.0 12.1
ERNF"S
AE LRI E AR & R)BIESMAY R 2 KRR r‘?r'?ﬁjﬁ
W2 2 3 ?m;‘ g U PEE T RE o
iﬁ-’l/%/ﬁ iRl - ‘;:*I{f—?ﬁ’—ﬂﬁ
- ~NJEP e
e oh b A Rk 1 B HE O i I Pk 2
LR RO - E O R TE = Y E A
proei s g a ag )RR
o a2 (s 108.07.29
Z N~ EL VN N Pl
A B A o g [B)
= SR I ~CERE
gl aEKRD IR
bR AR e Ay RRERRL RV RRERL 2
AR 7t ladas : &= RE
Fo3 BB IER T A wr 0 0
- U i ¥ 89 20
(%) | 42 8 44
A3 3 36
% & (g/cm?) 2.72 2.64
w3 £ (%) 0.02 0.03

ERNg-2 1

2. s :

3. k7

1 3/ :*ER ZI%QE'Jié}%Friﬁvf%%i” €l 12 RIEE 2 46
L 272~ 2.64(#* 20C k2

(0.9982343g/cm?) -
g/cm? o

ﬂ\-& ﬁ;{ 2 /f@/? ";h}% }Fr/w

A A

(44%)

¥ ﬂ\&}i 2 Feip) f'&}%’?uuf;]#ﬂ ZAERIE P LR P2

Bl 5 0.02%% 0.03% -

§ 2 R A

#’L—/fa—’l"\ 'f’t’ ’ /FJVV&' 1 -»#.—/fa_ﬂ ’l“’\
L -Ijl'—// ?&rﬁ (89%) ’ IE .‘1‘!:' 2 —V/._./f;._ﬂ AV\ L -Ij":’?i ﬁxrﬁ
CH = % AR (36%) ©

2L E) g 200K B R
272~ 2.64

3
o
>



